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HEH = (ke/ ) BENE (kg/HF)
#B3E HHE
R (BERRE| ko~ |k~ [ BECCL gug |kt~ mmn| sps | BDE
a—Fk DHEH | DHEH AR B T &5 DBRB=E| K &&t CH
1 |deiEE 9.7E+2 965.0 965.0
2 |EHE 1.7E+2 167.2 167.2
3 |BEFE 3.6E+2 364.3 364.3
4 |EHE 7.2E+2 719.7 719.7
5 (AR 1.9E+2 189.3 189.3
6 [ILZE 1.7E+1 17.3 17.3
7 [EER 2.1E+3 2,095.3 2,095.3
8 |ZWE 1.3E+3 1,316.3 1,316.3
9 |HAE 4.9E+0 49 49
10 |HER 4.4E+1 439 439
REEET! 9.8E+2 984.2 984.2
12 |TER 3.1E+1 31.3 31.3
13 |HREER
14 |[#E)E 1.3E+2 130.6 130.6
15 |FiRk 4.8E+1 483 483
16 |[EWE 2.4E+1 23.8 238
17 |RINE 4.1E+3 4,107.7 4,107.7
18 |f&@HE 6.0E+0 6.0 6.0
19 [ILEE
20 |REHR 1.3E+1 13.2 13.2
21 |IKEBR 1.5E+3 1,487.6 1,487.6
22 |E&mER 3.5E+1 34.8 3458
23 |BHER 1.3E+2 129.8 129.8
24 |=ZER 4.1E+1 414 414
25 |#HER 7.7E+0 1.7 7.7
26 |REAT 6.6E+1 66.2 66.2
27 | KBRAF 2.0E-1 0.2 0.2
28 |EER 1.7E+3 1,664.9 1,664.9
29 |ERR 1.6E+0 1.6 1.6
30 |FOERILE 3.7E+2 3718 371.8
31 |BIE 6.8E+1 67.6 67.6
32 |BRE 7.5E+0 75 75
33 |[ELE 5.2E+0 5.2 5.2
34 |[LER 7.0E+0 7.0 7.0
35 |ILOg 49E+2| 2.9E+0 4929 4929
36 |fESR 2.0E+2 202.9 202.9
37 |BNE 2.1E+0 2.1 2.1
38 |BER 2.7E+2 268.3 268.3
39 |S5E 6.5E+2 645.5 1.0E+0 1.0 646.5
40 |fERR 7.2E+1 724 724
41 [EER 1.2E+2 117.2 117.2
2 |RIBER 3.1E+0 3.1 3.1
43 |EEARER 7.1E+2 705.7 705.7
44 | KHR 41E+2 4142 4142
45 |FIFER 1.7E+3 1,710.4 1,710.4
46 |EBESER 1.2E+2 115.1 115.1
47 | HEER 2.9E+2 2943 2943
£ H 49E+2| 2.0E+4 20,165.7 1.0E+0 1.0 20,166.7
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